
Digit the Badger 2 
 

Have a go at some of the puzzles that Digit the 

Badger has sett (get it?) for you. 

 
 
 
 
 
 

                                                                           

 
 
 
 
 
 

 
 
 

 
 
 
 

 
 

 
 

Dave and Sam decided to go to the hide to watch the 

badgers. They took with them some peanuts and raisins to 

put down, to give the badgers a treat, and persuade them 

to hang around for a while, so that the children could have 

a really good look at them. 

Peanuts cost 80p for 100g. What would Dave need to 

pay for 350grams? 

 

 

 

………………………………………………………………. 

Raisins cost 90p for 100g. Sam paid £2.70 for a bag. 

How many grams of raisins did she get? 

 

 

 

………………………………………………………………………….. 



 
 

 
 

 
 
 
 

 

Sandy …………… Sarah …………. Steph …………. Fiona  ………….. 

 

How much longer did Sandy take than Fiona? ……………………………………………………………… 

 

The Badger Group members were surveying a new sett they’d been told about. (If you 

find a sett, please let us know. We don’t mind if we already know it.) 

They plotted the coordinates. 
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What is the coordinate of entrance D?  …………………. 
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 Start Finish 

Sandy 10.30am 11.50am 

Sarah 10.35am 12.10pm 

Steph 10.40am 12.09pm 

Fiona 10.45am 12.02pm 

The gang from the Badger Group decided to 

do a sponsored walk to raise money for the 

group. 

Here are the start and finish times of the 

gang.  How long did each member take? 

A 

4, 4 

C 

8, 4 

B  6, 6 

D 

x 


